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9-3 Solving Exponential and

Logarithmic equations
Objectives:

| can solve exponential and logarithmic equations
both graphically and algebraically.




Solving Graphically

275622 <1000 window
.Olx
=27%¢ Yy, = (000 g 20
10%* = 1500 40D
— 2 —
n=107 »271500

Inverses
Addition/Subtraction Natural Log/e? Common Log/10* Log base b/b*
_22150 e"x)=?(\ *=100 | 2x=16
+ r fate”)=tnl5
— [‘zo;ére (o) |
x= 19 = (3) ) }%Jﬁzﬂy@)bg&ﬂ
X = Q-Oj (Q) _ E
X = Oj,z_fb

)= —3 |log x=4
x+_77 21 e(L”‘ﬂJ, XT3 plogxs

14| x=e x= 107 |yx= %'




Solve the following equations
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Solve the foIIowmg

In(x+12) = n2 x-HZ))‘}«(?))

n(x412) 2 fn (2
x+\2 4
VR 12 T2

logx" =2
4;%) x: 2
=05 O
L R P,
l{ln(x+7) 5 _L\{FO\O
iﬁg(xﬂ):q(o
L-l
/Q},y\(x—t‘?): |.6
€

1.S
1=
ke l= €

X = e\.é ey

-‘X-Z.‘;Z’




Solve the following

log(x+2)—3=5

log,(1-x)=1

Suppose that $250 is deposited into an account thatt s
compounded guarterly. Solve fdo find how long it will take for

the account to contain at least $500.

How long will it take for a $250 initial investment in
an account that pays 4.5% compounded continuously
to grow to $7507?




Comparing acidity: pH = —log [H +}

I: H ] = hydrogen-ion concentration

Vinegar has a pH of 2.4. What is it's hydrogen ion concentration?

Baking soda has a pH of 8.4. What is it's hydrogen ion concentration?

Which has a higher hydrogen ion concentration?
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